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All Candidates' performance across questions

Question Title N Mean SD Max Mark FF Attempt %
1 5374 10.5 2.7 16 65.7 99.8
3 5294 6.5 2.3 9 71.9 98.4
5 5279 34 1.2 5 68.2 98.1
7 5337 5.5 1.6 7 78.7 99.2
9 5262 2.4 1.1 4 59.4 97.8
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(b)

(d)

(1) Gradient of AB = increase in y M1
increase in x

Gradient of AB=—-1 (or equivalent) Al
3
(11) A correct method for finding the equation of AE using
candidate’s gradient for AB M1
Equationof AB: y—-3=—-1[x—(7)] (orequivalent)
3
(f.t. candidate’s gradient of AB) Al
Equation of A5 : x+3y—-2=0 (convincing) Al
(1) Useofmy x myp=—1 M1
A correct method for finding the equation of L using
candidate’s gradient for L (M1)
(to be awarded only if corresponding M1 is not awarded in
part (ii))
Equation of L : y—35=3[x—-(-3)] (or equivalent)

(f.t. candidate’s gradient of AB) Al
Note: Total mark for part (a) is 7 marks

An attempt to solve equations of A5 and L simultaneously M1
x=—4,y=2 (convincing) (c.a.0.) Al

A correct method for finding at least one coordinate of the mid-point of
AB M1
y-coordinate of the mid-point of A5 = 1-5 (or x-coordinate = —2-3)

— D 18 not the mid-point of A5 or
= L 1s not the perpendicular bisector of A5 or
—> the mid-point does not liec on L Al

Alternative Mark Scheme
A correct method for finding the lengths of two of AB, AD, BD M1

Two of 4B = V90, AD =10, BD = V40
— [ 18 not the mid-point of A5 or
— L 1s not the perpendicular bisector of A5 or

—> the mid-point does not lie on L Al
A correct method for finding the length of BO(CLD) M1
BD =40 (or equivalent) Al
CD =10 Al
Substitution of candidate’s derived values in tan ABC = CD ml
BD
tan ABC =1 (c.a.0.) Al
2
Special Case

A candidate who has been awarded MO A0 A0 m0 A0 may be awarded
SC1 for one of AB =90, AC =20, BC =50
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Sticky Note

This candidate has used  two different methods to show that D is not the mid-point of AB.



Sticky Note

A correct method for finding the tan of angle ABC.
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Sticky Note

A clear diagram has enabled this candidate to use a correct method for finding the tan of angle ABC. 



Sticky Note

Unfortunately, there is a small slip at the end.
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Sticky Note

Unfortunately, a large number of candidates did not realise that ABC was not a right-angled triangle. 










1. The points A, B, C have coordinates (-7, 3), (2, 0), (-3, 5), respectively. The line L passes
through C and is perpendicular to AB.

(@ (i) Find the gradient of AB.
(i) Show that the equation of AB is
x+3y-2=0.

(iii)  Find the equation of L. [7]
(b) The line L intersects AB at the point D. Show that the coordinates of D are (-4, 2).  [2]
(c) Show that L is not the perpendicular bisector of AB. 2]

(d)  Find the value of tan ABC. Give your answer in its simplest form. [5]
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(a)

(%)

4N N1 = (42 —N11DH(EV2 N1 M1
3V2+V11 (3V2 +V1D)(3V2 —V11)

Numerator: 12%x2 -4 x¥2 x V11 -3 x V11 x V2 + 11 Al
Denominator: 18—-11 Al
A2 N1l = 522 (c.a.0.) Al
3V2 +411

Special case
If M1 not gained, allow SCI1 for correctly simplified numerator or

denominator following multiplication of top and bottom by 3V2 + V11

_ 7 = pV14, where pis a fraction equivalent to '/, B1
214

(V14 ]° = gV14, where g is a fraction equivalent to /4 B1
L2 )

7+ [14)* =2V14 (c.a.0.) Bl
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Sticky Note

Most candidates who got this part correct used a method similar to this one.
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Sticky Note

An alternative method based on finding a common denominator before rationalising.
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Sticky Note

Two examples where the candidate has earned the first two marks but then made an error when trying to add the two fractions.
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(@)

(b)

y+8y=9(x+8x)" — 8(x +8x) -3

Subtracting y from above to find &y

0y = 18x0x + 9(8x)2 — 8ox

Dividing by 8x and letting 6x — 0

dyv= limit dy = 18x—8 (c.a.0.)
dx dx— 0 Sx

dv=3 ><(—6)><x7774><§><3c:2/3
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Sticky Note

A clear, simple proof, neatly presented.
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Sticky Note

An algebraic error.



Sticky Note

A totally incorrect statement.
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Sticky Note

This candidate has basically the correct method but the notation and presentation is very poor.










(a) Given that y = 9x2 — 8x - 3, find % from first principles. [3]

5
{b) Differentiate % —4x3 with respect to x. [2]











